Compact Vent Assembly

NOTE: When ordering a Compact Vent Assembly for first time installation in the field, call Invacare
Corporation at 1-800-333-6900. Request Customer Service to review and reference "SPECIAL QUOTE
#SM-091118102342" to ensure that all additional parts (not shown) and installation instruction sheet are
shipped. Wheelchair serial number is required. Components shown are for wheelchairs originally ordered
with a compact vent and solid back.

~

D - \ ~
N - \ ™
O \
Compact Vent Assembly \ @
\

14” - 16” Wide Chairs \ N

Compact Vent Assembly
16” - 20” Wide Chairs



Compact Vent Assembly
NOTE: When ordering a Compact Vent Assembly for first time installation in the field, call Invacare
Corporation at 1-800-333-6900. Request Customer Service to review and reference "SPECIAL QUOTE
#SM-091118102342" to ensure that all additional parts (not shown) and installation instruction sheet are
shipped. Wheelchair serial number is required. Components shown are for wheelchairs originally ordered

with a compact vent and solid back.

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 A 1162939 Compact Vent Assembly 1 1
2 B 1154127 NLA - Kit, Compact Vent Mounting Hardware (14 - 1 1
16" Wide)
3 Screw, Socket Button Head (1/4-20 x 5/8") 1 2
4 Screw, Hex Head (1/4-20 x 1-5/8") 1 2
5 Locknut (1/4-20) 1 4
6 Washer (1/4 x 23/32 x 1/16") 1 2
7 Spacer, Coved (1/4 x 11/16 x 1/2") 1 4
8 Anti-Rattle (1") 1 2
9 Tube, Spreader Bar, Adjustable (14 - 16" W) 1 1
10 Handle, Spreader Bar (14 - 16" W) 1 2
11 Bracket, Compact Vent Mounting, Black 1 1
12 Compact Vent Mounting Strap Assembly and 2 1
Hardware (Pair)
2 C 1154128 NLA - Kit, Compact Vent Mounting Hardware (16 - 1 1
20" Wide)
3 Screw, Socket Button Head (1/4-20 x 5/8") 1 2
4 Screw, Hex Head (1/4-20 x 1-5/8") 1 2
5 Locknut (1/4-20) 1 2
6 Washer (1/4 x 23/32 x 1/16") 1 2
7 Spacer, Coved (1/4 x 11/16 x 1/2") 1 4
8 Anti-Rattle (1") 1 2
9 Tube, Spreader Bar, Adjustable, Black (16 - 20" W) 1 1
10 Handle, Spreader Bar (16 - 20" W) 1 2
11 Bracket, Compact Vent Mounting, Black 1 1
12 Compact Vent Mounting Strap Assembly and 2 1
Hardware (Pair)
13 1025730 Locknut (5/16-24) 1 2
14 1031026 Screw w/ Lug (5/16-24 x 1-3/8") 1 2
15 D 1160743-NLA | NLA - Back Cane Assembly, w/ Short Grip, w/o 10 1 1
Degree Bend, Black - Right (18" H)
15 D 1160744-NLA | NLA - Back Cane Assembly, w/ Short Grip, w/o 10 1 1
Degree Bend, Black - Left (18" H)
16 1086460 Grip, Foam, Hand (4-1/2" L) 1 1
17 1134426 Package, Plug Button, Black (3/4") 10 1
E 1154288-NLA | NLA - Instruction Sheet, Compact Vent Assembly 1 1
Installation
NOTE: A - The Compact Vent Assembly is sold complete. individual components are non-serviceable
B - Includes items 3-12 and used for 14" - 16" wide chairs
C - Includes items 3-12 and used for 16" - 20" wide chairs
D - Includes the Back Cane and items 16 and 17. The 18" High Back Cane Assembly with short grip is used when a Compact

m

Vent Assembly is ordered

- Not Shown




